eS2BUUY ‘W E xvmaoleiny BEIEIXE K {ed1oaoiaut)
|\N \g\ g hedg
— &
(mouurou exsodpumoed {naumutiou) (wonutou exsoddumaed) {aauutfoy) &
egaexelUeg Y 'H N@% deaa ES0TAWOIEW T | § ‘C daiueixig
1600 L60°0 A M v1z1oodbopri[\, 4 neh
syz'e Spz's M 60100000030 Jodoa
SSv'L GSb'L o gv600000deri” 0X0UOW 20HZMALD)
V' ¥z o 602000000000-00 duchay
£'08 L6 90 4m £8Z1000000MNN ohuyg
yEY'0R vey'08 e 282100000020 WIoUgK
ZL'vl 95’2, 95'9 5 #12000000000-00| VoHEXd gau|
G9'2} Go'2L o 89000000020 iaHaueD iahdAg
¥Z'8Z [A%d3 ZL'yl ] 650000000000-00| aLkdboxAsy
90'4 902 % £1110000001TIA 1EWO] |
90 902 i 166000000020 EHEBIBWD
£'6E S9Ll 59'2) a ££60000000NW EU%BED
86Z'€Z 804'21 65'0L M £0800000001N agondopy
¥60'69 ¥00'%2 68'Sy [ 82£0000000T 1A suagpoLdey
T¥'ey Zh'eY El 2 1£000000011IN e1oAuey
6'601L 6'c0lL a 21.6000000011W 3a%a82 0oBp)|
£8'L% $6'L 9E'Zy £5'S It 2090000000NIN BEHhMHaMU EXA
z0L'vL 2850 £S5 € SET'Y ¥e8'c £5'€ 44 #950000000N SCHhaHUG3ToU oldepy
£6'0Z 65'0) ¥E04 ; 825000000011W WA
H'zp L2y i 1 8$0000000TIIN BEHRVIHBML EuAdy
#5692 ¥ L'y ¥Z'0g 2'ze 8'z ¥’z M 161100000001 gauy]
85'0 82'0 £'0 I £4/000000020) aurvaol |
166'S L6Z0 2LL'e £6'¢ 950'0 o 865000000011 auoed
ZZTT. zZe'e .; 898000000011 Mg
19's s'a 7’0 858'E 82°0 £0 2020 i 5950000000711 SOHROBMUD OUIBIN
Z0%¥'BL /6'0 £6'E 90°, o0'/ Zoz'0 860 il Z£60000000TW) dexeg
Sb'6Z ZL'yl ¥5'L gL i 86500000000 OHOUON
viL'0 ¥L1'0 o Z0£0000000NN OENEN
0/0 [3] i 0ic (]3] 0/0 0/0 0/0 0 i 0/0 0/ /0 0/0 0 a 0/0 0/0 anWndou 2aa - oxiag
LPI0S 0s Ly L¥/0G 9/9 8TE/BLE 8Ze/8LE 8.€/82¢ 8L¢ gee gze/gle 8ZEI8LE 2Te/8Le 8/£/9Z8 4 [ 0E/82 8Z/08 wuhdou 0810ahkUoy
£2 zz 54 oz 6L 8l 11 9l Sl 4 el 43 Lt o] 6 8 L 9 S 4 g 4 L
o m
s
3 g 3 1
waxuinol s = = E m # & =
weHoodsu eH| Asioauosol! = E g = = 2 2¢ g
eH g H z 3 0 3 a @ a H & F
@ = o o = =
£ & P - ° S g el L4 = z a ° S
= a 2 2 £ s bl B s g g 2 3 a °
o = o Tn = @ o
= b = = x 3 3 = ) 2 o o
g 8 o 9 2 g g & ) @ ] = o H = g z g
B I3} z 8 g g 2 2 = 2 s ] 9 5 z ) 2 H o
B 32 ] a ] g o H = @ = ] L3 g ° = x 2 ou SMHEBOHAWMEH
S g o o 2 8 A o s o & % I} o g BWEN
=8 =l o a I 2 =5 x Z = H 2 2 = g eh
R 2 : < £ 3 g 2 2 £ g = g 2 ¥
& E = o 5 o z B 2 2 ~ HUYg
- =z o T @ 8 B o 2
o = 2 = 3
W sl L= g = 2 =
< E
suhedauo
HUXA NMHYUOL| iizlelo) wediseg
(0s1o3huLIOY) BUHELWU
soitodu Yoxoed axbewies xumexautou 'surelnu gowkfodu ogloanuuroy BuHeLWU 191¥AYod] |
00'00Z L¥l o01e0g
00'009 58 8ze 00'002 L || -G MHMHHELWLDO
00'009 2 8/€ 00'002 Lilp-| MXHHHELMLOO]
L 9 S 4 € 4 I
BHY BHY 0I0HVO
uan gfd .wuxsjcﬁmmﬂa._.unco«moq ouofiliE:EIGIIED ,m:%%o:qu WisoWHOL2 wosoHeuy oy | H00HEN XrHdENRAS
‘BUBHODdOU | “aLDOWMOLD WOBOHELL OU & =
SUDOHHAUDKR | BEXZShULESD il axwmoikeiosuosoly| F2OAMOLD
QLIOWHOLD BBEOHEL]] i BEBOHEL|] ?EL_ES wust_E.,m.Gacowou. vndeolaiey wroy
Sy ] maf: =
BEBEUY I m of 2 Q%&angbrmm»o
A T 1,@&.@“ @Qﬂa gosdAiidin
6/EGELSZ  |OLMO ou AoMUdE) rirHesoeedgo ¢ B .ws:mk*mn_z.h
ouoNoshubedioadox-oHaUENISEAN LBHOSIHN-BUEEHWII BERHSB100BTAS0 |, HEWOBIEY .5
wiMugAuoay anHathxadhA soHaualesoeedgoaingo aoHHaEEs BoHHaE1adg A0} Ly
. 3
€20z )L €2 |=iEd 1£20Z bdguoH &7 e 3
Z20Z¥050 TANXO ou ewdog i J
1aon 5

£11000-0000

5N BMHELMU soviAdodu Anedias eH ms:mmommnr E_mw_a

—, \\pJ.é Nwm?

it T

(v2uutiou exsodgpumoed)
esodeNegy 'O U

P

L ‘ﬂc,_mugl auaLuroamikd

oleThkdanLA



